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Q.No.1 ' A Ay
(1) If there are two variables x and y gl B g i () AAAaS () Bl y sx BN (D)
. and if variable(y) depends on variable(x) we write such functional relationship as:

(A) y=1(x) (B) x + () (C)y + f(x} (D) x = fy)

(2) Increase in demand due to other factors except price Is called: -q..rlkfiu*pf.,&a..pJJifﬁqu.:E (2)
(A) Extension of demand tLf 1 (B) Rise In demand b-zs’;.-ib -
(C) Fall in demand e b : (D) Contradtion of demand t,ﬁ’\_,»ﬂ'

(3) Elasticity of necessities is: -.;..;Sx_g Slfalon A (3)
(A) More slastic sufals (B) Infinite elastic 4. (©) Less elastic 43/ (D) Zero elastic i

(4) The main reason of change in price of perishable goods is: -4.!:7’:'1’._::{5 xuf.-i..m[ ;..pf Jgilgj;&i:é {4)
(A) Supply & (B) Cost s %C) Demand (D) Organizer £T

(5) 1if supply does not change due to increase in price is known as: -QI;{:»';}?JQEMMJ@.?}J&'ALG‘E {5)
(A) Extension of supply &y (8) Fall in supply ¢ (7
(C) Rise in supply boxtus (D) Contraction of supply § ¥4

(8) In long run supply curve Is: -.:,'_tymbui.afu'::l’ (8)
(A) More elastic Jiudaits (B) Inelastio €7 (C) Less elastic 47 (D) infinitely efastic sy

(7) Functional relationship between inputs and outputs is known as: -g..UL?:‘:;J‘@;’L*»Z.J')[&MQ‘F]{;U‘}& (7
(A} Production of wealth u'.J:JJj'& (B) Production of resources JLstlg
{C) Production technique Hua s (D) Production function Hu ¥

(8 ____is not right acbut labour. e JEFLe @

' (A) it is inelastic q.{jml,:.gﬁf {B) 1t can not be stored Futh @

(C) it can not be separated from labourer Cf': l.;Juﬁ-ﬁ,«ff‘a.m ¥d (D) Differ in efficiency ;_ma)u»;w»:--
(9) Slope of Margina product curve under Law of Decreasing Returnis. - Wiid L g oedl ed’%ﬁ (9

(A) Infinite s1.5Y (B) Positive =4 (G) Negative & (D) Zero #

(40) Such Economiss which can be availed by all firms, known as: -L,-:f!u{u? L,"‘buurrlg;i:ld,-gufrl?’.:_.o";,f’?ﬁﬂl (10)
(A) Technical Economies S (B) Internal Economies S B
(C} External Economies u:"’w/:_'!.- (D) Administrative Economies La.d =1

(11) At the minimum point of Average Total cost: :{,&ii;f}#z. (ATC) e Sey (1)

{A) Marginal cost = Average cost Lkl = L.;u»("' (B) Marginal cost = Fixed cost .:.fl.-vun = .._’.-Wr“"
{C) Fixed cost = Variable cost e = et (D) Average variable cost = Demand J MRy VYW
{12) The second title of Average Revenue is! q./l:r,-ub’dﬂ;mf (12)
{A) Marginal Revanue Uf;f‘? (B) Marginall cost ._JJWP-*? (C) Price 24 (D) Average cost ikt
(& Jn)



(13

M — N~ 7

(2}

Revenue which we get after selling an additionat -;.Ju’,f e SﬂJ’bLLf:J:)JE’IQW.'_gLﬁmﬁ .

- unit is known as:

(14)

(15

(18)

(17}

(18)

(1)

(20}

(A} Cash receipt y»45 (B) Avérage revenus Ssshs  (C) Marginal revenus d:‘:{‘”‘" (D) Total revenue s f
Such market in which firms are producing homogenous —e bt s g SeINEU Ot
product, is known as;

{A) Monopoly (St . {B) Duopoly e

(C) Monopolistic competition J:I.i‘a;bme;J {D} Perfect competition ,J:I.‘a‘«_}; _
g BT St & e rm S i
(A) Net rent w8 % (B) Scarcity rent w8y,  (C) Differential rent w83 (D) Quasi rent B

Productive difference of pieces of various lands is called:

Spaculative demand for money depends on: - Sl K;,Jhﬁjgj.ﬁpi_.ﬂﬁ&-‘?
(A) Investment £5/6 L~ (B) Saving ¢=f {C}) Income {J.«T (D) Interest rate {:rL/"
is not Economic good. s S (S
(A) Food J1.# (B) Dress v (C) Sunlight &0t (D) House P
Father of Economics was: . P 7 1A
{A} Marshail J’EL (B) Adam Smith .z?’rél (C) Robbins . (D) KeyniLs ,tr
When total utllity diminishes then Marginal utility becames: - I:‘na:lil?\:"?.f__ t'/':;tiibr._.»a
(A) Positive b (B) Negative (8 (C) Maximum osbicnl. (D) Zero 3

Total utility at each point of indifference curve is: - - ‘:yr.a_i.»b’a_:ﬁlp?:;ﬂ}; [.é }!/»b'

(A) Constant L (B) Zero (C) Infinite 3141 (D) Negative (&
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SECTION-l Lo

2. Attempt any eight parts. 16=2x8 -égf._«wz.lyu S 24
(i}  Whatis meant by Economic Wants? “a.JI/U‘;...,LprIy (i
(i) Write four points of Robbins definition. el G
(i) What is meant by Economic Laws? v;.n,-u’c, FI3Se (i)
(iv) Whatis meant by Economic problem? : Tc‘...!f/l_r(‘:.-,ﬁ'/(flr fiv)
(v) Whatis meant by Consumer? ?;‘.uyg’;.bs;u (v)
(vi) Define Marginal Utility. _ JEaFeu i)
{vii) Define Law of Equi-marginal Utility. __é_.y}Uﬁ;ﬁU:L/uJE‘ {vii)
(vili) Whatis meant by Linear Equation? ?:_;.:yg@;smd»é {vii})
" (x) Define Law of Demand. LE A ()
()  What is meant by Expansion of Demand? - el e Kb (X)
(x) What is meant by Rise in Démand? ?q:.:ffl_/a..t-vxi'.,)b {xi)
(xii) Whatis meant by Income Elasticity? ?“-.;I/-l{;_\,gu,u? (i)
3. Attempt any eight parts. ' 16=2x8 »ef{fa&le.mﬂ;&f 23240
()  Whatis meant by Market Supply? te st sl ()
(i)  Wiite two limitations of Law of Supply. | S S fo s nSaragdE (i)
(i) Define Supply. s S i
(iv) What is meant by shifting of supply curve? ?.;._)-‘/lf;, L}‘*Jy,-w {iv)
(v} Draw a diagram of market equilibrium. -Q_’".-«r'lfliu(uﬁ}ﬁdfw (V)
(v What s production of weaith? ?uf.;;,_fgﬁ./:;rj»yhf; (vi)
(viiy Define Labour. BT ACTIN)
(viil) What is meant by Organization? ?a‘_,r/gff.-_rc” (Vi)
(ix) Differentiate between the National and Foreign capital. -L,,:/;,'L,.L}}s’,r,/f/_ﬂ-nf {ix)
(x}  Define Technical Economies. -u:"d -'-EJ/’TL;U?' l'w/'ﬁf (x]
(xi) Write four disadvantages of large scale production. -g{&f@tu‘ﬁ;giﬁﬁsga (xi)
(xiiy Define Law of Variable proportion. AL eFuss o

(.:‘ﬂ-l Lj).‘)
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> (2)
4, Attempt any nine parts. . 18=2x9
(i)  write any four examples of Fixed cost.
(if) Whét is meant by Average Variable Cost?
(iiy Vvhat is meant by Total Revenue?
(iv) Whatis meant by Monopoly?
(v} What is meant by Super Normal Profit?
{vi) Whatis meant by Short Run?
(vii) Define Market.
(viii) Write any four characteristics of day to day market.
(ix) Define Rent.
(x) Whatis meant by Quasi Rent?
(xi) Write any four functions of Labour Union.
{xii)- What is meant by precautionary demand for money?
(xili) What is meant by Interest?

NOTE: - Attempt any three guestions.
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SECTION-II ¢

Write in detail the properties of indifference curves.

Explain Law of Demand with the help of schedule

and diagram.

Explain different kinds of Mobility of Labour.

Explain relationship between Average cost curve

and Marginal cost curve.

Explain theory of marginal productivity

with the help of table and graph.
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_l,):z’:-:-—’ La'ur_.uJ{'/?’?z_slulﬂf_a;rlbu:)l? -6
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